
Name :____________________________                    Application Problems 

There are 8 eggs in the carton. The carton will hold 12 eggs. How many more 

eggs will fit in the carton?  

Use a tape diagram, numbers sentence and words to show how you solved the problem 

 

 

 

 

 

 

 

 

 

 

Crosby has 8 more green crayons than yellow crayons. Crosby has 10 green 

crayons. How many yellow crayons does Crosby have?  

Use a tape diagram, numbers sentence and words to show how you solved the problem 

 

 

  

 


